3. Factoring Polynomials.notebook September 22, 2022

d) Factoring a Trinomial

2
Part i: ] he trinomial has the form ax™ + bx+c.

Example: 2% -3x-9

. Multipiy the coefficient of the first term and the
third term (a ' C).

@X2 —3x —_— 2><(—9) =
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2. [ind two numbers ("M & M) whose sum is the
coefficient of the second term (b), and whose
Procluct is the value found in step | (ac),

|l x_ -
Q'EI m+n=-3 Zx - 3x - 1
mxn=-—18 T,
m=—06
-

n=3
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5. Kewrite the trinomia], rep]acing the second term
with two new terms whose coefficients are the

values found in step 2.

~

2x° 9 =2x"—6x+3x-9



3. Factoring Polynomials.notebook September 22, 2022

4. [actor the new Polfjnomia] 53 grouping
GCF =3
CF2x _ 9p br43x-9 / Far(x-3)
Fz (X - 3) \—\/-/ \—
2x!x—3}+3 x—3

(x—3)(2x+3)
o2 =3x-9=(x-3)(2x +3)
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Example: Factor 3x*+10x+8
Q ec=3%-24

® mxn=2t +6)"'LI'
"M¥n = (O

® X +6x + x4

@ 5)«(1%2>+4(7i 12)

(X’r l)@)( { i/)

September 22, 2022
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Mactor the Fo”owing Po]gnomials.

ax Ax -3 2
A~
i 2x-x-6 ' +12x%9

@® “4x9-= 3b T
xn= 3b
@ wmxn- IL} 6,L

Ve =

@ G5+ ox +ox T4
@ g\x@y\-rS) +3Qx 33

z(lwr 3X2x+5

(9\7\Jr 3"
@ 411x-7) @ GF-3x f -7
Oet--9 @&(zw\)w(zw\)

@ MR = "fl\ +/ ) =3

ml s (R \X%x—@
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@ Ix-4%=-4¢ S
Factorz ) : (0
2la? —2x—48 Dl -Sx-14
@ ™mxn =—48§ L(.‘ .._? MmxN > i
w4anN = - 2 ) = +in
X.L + 6y - ¥x =YY% Xl—}x +2><—l‘f

X(X+g> - %(XJY (o> (% ?\—\rl(‘/\'?\

(g (O
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Cact . o . [
FPart 2: T he trinomial has the form x> +bx+c.
Examplc: Tactor x> +17x + 60,

X +17x+60 x> +bx+c (@=1)

i. [ind two numbers (" &) whose sum is equal to the
coefficient of the second term (b), and whose
Product IS equal to the value of the third term (C)

n=12 ( 5x12=60
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2.

(_reate the Procluct of two binomials: the first term
in each binomial is X (or whatever variable is used);
the second term of each binomial are the two values

found in step i.

x’ +17x+60:(x+5)(x+12)
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